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QUESTION 1

An HR administrator is unable to enter the details of an intern due to unavailability of the right choice of values. The HR
administrator is unaware that the worker type "Intern" has not been set up in the application. 

A. Contract Worker 

B. Person of Interest 

C. Non-Worker 

D. Employee 

E. Contingent Worker 

F. Pending Worker 

Correct Answer: CDEF 

 

QUESTION 2

Which three options are true regarding Grade Ladders? (Choose three.) 

A. Five types of Grade Ladders are available. 

B. A Grade Ladder can be created with a combination of both grades and grades with steps. 

C. A Grade Ladder cannot be created with a combination of both grades and grades with steps. 

D. Two types of Grade Ladders are available. 

E. Grade Ladders are used to group grades or grades with steps. 

Correct Answer: CDE 

 

QUESTION 3

An employee accesses My Portrait and wants to create his personal payment method. On navigating to the link, the
employee sees that the \\'Create icon is disabled and he is unable to create his personal payment method. The
employee raises a service request to troubleshoot this issue. 

What are the two options the Analyst supporting the service request should look at for the root cause? (Choose two) 

A. The elements are not defined. 

B. The Payroll Definition does not have a Valid Payment Method assigned. 

C. The employee does not have a valid payment method. 

D. The employee does not have a payroll relationship associated. 
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Correct Answer: BD 

 

QUESTION 4

The HR of Finance Department searches for an employee who is the Finance Auditor. The search is conducted with an
effective date of 01-Jan-2015 on the Person Management page. The search does not yield any results. 

Identify two reasons for this behavior (Choose two) 

A. The employee is working as an employee in Finance Department. 

B. The employee has multiple assignments and being a Finance Auditor is a part of the secondary assignment 

C. The employee was a contingent worker until 31-Dec-2014 and will rejoin as an employee on 02-Jan-2015. 

D. The employee is working as a contingent worker in Finance Department. 

E. The employee is inactive as of 01-Jan-2015. 

Correct Answer: CE 

 

QUESTION 5

Action Type identifies the type of business process associated with an action and determines what happens when you
select that Action. As part of implementing Oracle Global Human Resources Cloud, Action Types are associated with
Actions. 

Which two statements are correct regarding Action types\\'? (Choose two.) 

A. An Action type cannot be associated with user-defined actions. 

B. Action types are seeded. 

C. Every Action type can have multiple actions within it. 

D. If Termination is an action. Normal Termination is an action type. 

E. Additional Action types can be created. 

Correct Answer: BC 

 

QUESTION 6

The Human Resource Representative of the organization is trying to set up the Jobs and Positions for the enterprise.
What are the three options that the Human Resource Representative should be aware of regarding Jobs and Positions?
{Choose three.) 

A. When using positions, the grades that are specified for the job become the default grades for the position 

B. Jobs and Positions are shared by Sets. 
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C. Jobs are shared by Sets and Positions are assigned to Business Units. 

D. Positions may be added to a specific department and location. 

Correct Answer: ACD 

 

QUESTION 7

You are implementing the Checklist functionality for one of your customers. The customer wants the checklist template
to be allocated to persons automatically. 

What should you do to achieve the required functionality? 

A. Managers can automatically allocate checklist templates to the persons whom they manage from Person Gallery 

B. Associate the eligibility profile with the checklist template to allocate the checklist to persons automatically when they
satisfy the criteria built in the eligibility profile. 

C. Associate the action with the checklist template to allocate the checklist to persons automatically when they
experience the action. 

D. Associate the area of responsibility with the checklist template to allocate the checklist to persons automatically when
they are given the specific area of responsibility. 

E. Associate a life event with the checklist template to allocate the checklist to persons automatically when they
experience the event. 

Correct Answer: C 

 

QUESTION 8

While trying to create a Legal Entity you realize that the country list of value does not have the country you want. Identify
why the country you want is not visible. 

A. The list of Countries on the Legal Entity comes from enabling the field through Page Composer. The component in
the Page Composer was hidden at the Site level. 

B. The list of Countries on the Legal Entity comes from the list of defined Legal Jurisdictions. The missing country has
not been identified as a Legal Jurisdiction. 

C. The list of Countries on the Legal Entity comes from enabling a descriptive flexfield that has not been deployed. 

D. The list of Countries on the Legal Entity comes from independent value set. The independent value set did not have
the country as one of the values. 

Correct Answer: D 

 

QUESTION 9

While promoting an employee in the system, it is required that the HR specialist be able to see the name of the next
three jobs the employee can progress to in the list of values against the Job field. 
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Which setup meets this requirement? 

A. Descriptive flex fields must be defined to hold Progression Job Information. 

B. Create an appropriate job set 

C. Benchmark all the jobs in the system. 

D. Job Evaluation criteria must be set up during job creation. 

E. Progression Job Information must be defined during job creation. 

Correct Answer: E 

 

QUESTION 10

You are an HR specialist and want to add new values to a lookup. You have access to the specific work area, but are
unable to perform the activity. 

Identify the correct statement about this. 

A. You can access the task for profile options from the Setup and Maintenance menu 

B. You can create new lookup types but cannot modify the existing ones. 

C. Oracle applications contain certain predefined system lookups that are locked for editing 

D. The system administrator must enable the lookup before it is modified in the work area. 

E. You cannot add new lookup codes and meanings to the existing lookup types. 

Correct Answer: C 

 

QUESTION 11

Your customer wants to know how many employees are leaving the organization on their own. Identify the correct
sequence of steps that you need to perform to meet this requirement. 

A. Create a new action > Create a new reason and use it during termination. 

B. Create a new action type > Create a new action > Create a new action reason and use it during termination. 

C. Create a new action reason and associate it with the available action type. Use it during termination. 

D. Create a new action type > Create a new action reason and use it during termination. 

E. Create a new action > Associate it with an existing action type > Create a new action reason and use it during
termination. 

Correct Answer: C 
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QUESTION 12

A human resource specialist creates a checklist template with Category Offboarding and Action Termination. An
employee retires from the organization and hence his work relationship is terminated with the legal employer. However,
there is no Offboarding checklist allocated to the retired employee in the Manage Allocated Checklist region. 

What is the cause for this? 

A. Action Type was not defined for the checklist. 

B. The Action associated with the checklist does not match the Action selected during the termination process. 

C. Action Reasons were not defined in the checklist. 

D. The Allocate Checklist seeded process must be run to automatically allocate the checklist to the person. 

Correct Answer: D 
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